

Penthouse in Bugibba



Bugibba, North



€530,000

Reference No: 240231027-158

 Total Rooms: **6**

 Floor Area (m²): **160**

 Bathrooms: **2**

 Bedrooms: **2**

Penthouse - For Sale - Bugibba

ST PAULS BAY - PENTHOUSE including the Airspace Ownership, located seconds away from Bugibba Square and the Beach. This accommodation is served with a lift and the layout comprises a squarish open plan Kitchen/Living/Dining leading to the Front and Back Terraces, 2 Bathrooms (one with shower and one with jacuzzi), 2 Double Bedrooms (Main with a Large Walk-in) both with access to their own Terrace. This property is being sold Freehold, Fully furnished with high-quality furniture and underfloor heating. Viewings are highly recommended.

Features

- ✓ Lift
- ✓ Walk in Wardrobe
- ✓ Electricity Utility
- ✓ Double Glazed
- ✓ Balcony
- ✓ Kitchen/Dinette
- ✓ Floor Heating
- ✓ A/C
- ✓ Air Space
- ✓ Roof Terrace

Rooms

- ✓ Kitchen/Living/Dining : 10.61 x 3.76 m (39.89 m²)
- ✓ Double Bedroom : 3.56 x 3.06 m (10.89 m²)
- ✓ Double Bedroom : 5.07 x 3.96 m (20.08 m²)
- ✓ Walk In Wardrobe : 4.48 x 2.22 m (9.95 m²)
- ✓ Bathroom : 2.24 x 2.22 m (4.97 m²)
- ✓ Bathroom : 3.1 x 1.17 m (3.63 m²)
- ✓ Open Space : 3.14 x 10.6 m (33.28 m²)

Gallery









Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta